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1.

(A) 71
(B) 72
(C) 73
(D)

2.
—

(A) 2005 (B) 2003
(C) 2006 (D) 2008

3.
(A)
(B)
(C)
(D)

4.

         (A)
(B)
(C)
(D)

5.
—

(A) (B)
(C) (D)

6.

(A)
(B)
(C)
(D)

9.

-1

(A) (B)
(C) (D)

10.

(A) (B)
(C) (D)

11. 1939 

(A) 4 1937
(B) 29 1937
(C) 23 1937
(D) 30 1939

12.
(A) (B) 
(C) (D) 

13.
(A) (B) 
(C) (D) 

14.

(A) (B)
(C) (D)

15

(A)
(B)
(C)
(D)

16. 2017 
(A) (B) 
(C) (D) 

17.

(A)
(B)
(C)
(D)

18.

(A) (B) 
(C) (D) 

19. 2011 

(A) (B) 
(C) (D) 

20.

(A)

(B)

(C)
(D)

21.
(A) (B)

(C) (D)

22.
(A) (B)

(C) (D)

23.
(A) (B)

(C) (D)

24.
(A) (B)

(C) (D)

25.
(A) (B)

(C) (D)

26.
(A) (B)

(C) (D)

27.
(A) (B)

(C) (D)

28.

(A) (B)

(C) (D)



29.

(A)

(B)

(C)

(D)

30.

(A)

(B)

(C)

(D)

31.

(A) (B)

(C) (D)

32.

(A) (B)

(C) (D)

33.
(A) (B)

(C) (D)

34.
(A) OFFICER
(B) AUTHORITY

(C) LORD

(D) PROPRIETOR

35.

(A) (B)

(C) (D)

36.
(A) (B)

(C) (D)

37.

(A)

(B)

(C)

(D)

38.

(A) (B)

(C) (D)

39.
(A)

(B)

(C)

(D)

40.
(A) (B)

(C) (D)

General English

42. Improve the bold part of sentences, if
needed :
Your sister cooks well, isn’t she ?
(A) isn’t it ?
(B) doesn’t she ?
(C)  doesn’t it ?

(D) No improvement
43. In each of the following question, there

are four different words out of which one
is correctly spelt. Find the correctly spelt
word.
(A) saimultaneous
(B) simultaenous
(C) simultaneous

(D) simultanious

Direction (Q. No. 47 and 48)

Rearrange the parts of the sentence in
correct order.
The economic development plans
P : of energy to remain operational
Q : necessarily required increasing

amount
R : and implemental since independence
(A) PQR (B) RQP
(C) QPR (D) PRQ
Choose the synonyms of the given words.
Vintage :
(A) Inferior (B) Classic
(C) Minor (D) Fresh
Choose the alternative which best
expresses the meaning of the idiom/phrase
Laughing stock :
(A) An object of ridicule
(B) a subject of peace
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(C) Finding fault in others
(D) Profitable deal

57. Choose the correct pronoun and fill in
the blank in the following sentence.
.................., .................. and ................
have to visit the exhibition.
(A) You, he, I (B) He, you, I
(C) I, he, you (D) He, I, you

58. Change the following sentence into
passive voice.
We make butter from milk.
(A) Butter is make from milk by us.
(B) Butter is made from milk by us.
(C) Butter is make with milk by us.
(D) From milk butter is made by us.
Select the correctly punctuated sentence.
(A) My uncle who lives in Agra is a

doctor.
(B) My uncle, who lives in Agra, is a

doctor.
(C) My uncle, who lives in Agra is a

doctor.
(D) My uncle who lives in Agra, is a

doctor.
60. In many countries it is ___ legal to

keep a gun in your house.
(A) un (B) il
(C) in (D) mis

61. 18.6

(A) 8.68  (B) 8.84  

(C) 7.54  (D) 7.84  

62. (HCF)
(LCM) 12

2448 60 

(A) 248 (B) 204
(C) 348 (D) 284

63.
9 : 5 

` 4,200 

(A) ` 5,700 (B) ` 6,300

(C) ` 3,350 (D) ` 5,250

64. 540 
5 : 12 : 13

(A) 9320 

(B) 9450 

(C) 9560 

(D) 9720 

65.
28 48

2 
(A) 12.5 (B) 5 
(C) 10 (D) 12 

66.

4 

(A) 28 (B) 7 
(C) 31 (D) 14 

67. 60 
2 : 1 –

1 : 2 
(A) 60 (B) 72 
(C) 44 (C) 52 

68. 1 

(A)
110 %
2 (B) 12%

(C) 10% (D) 15%
69. 50 8

2 

(A) 8 (B) 16
(C) 2 (D) 4

70. (x – 1), x4 + x3 – 2x2 + ax + 1 
a 

(A) 1 (B) –1
(C) 2 (D) –2

71.
2

11
17
22 1 

(A) 24 (B) 33 
(C) 27 (D) 22 

72.

(A)
(B)
(C)
(D)

73. 930.25 

(A)
1
6 (B)

4
3

(C)
2
3 (D)

1
2

74. 300 40% 

50% 

(A) 60 (B) 25 

(C) 45 (D) 40 

75. 8% 3% 
407 

(A) 3700 (B) 3400

(C) 3500 (C) 3600

76.
3 45 ,4
4 5

37
8

(A)
1
40

(B)
3

40

(C)
1

10
(D)

1
20

77. ` 8 10 
` 1.25 

(A) 50% (B)
1

56 %
4

(C) 20% (D)
1

19 %
2

78. 30%
10% 

(A) 44% (B) 43%

(C) 42% (D) 41%

79. 27x = 
9 ,
3x 4

1
x

(A) 4 (B) 10

(C) 8 (D) 16

80. P (3,4)

(A) 3 (B) 5 

(C) 4 (D) 7 



81. —
(A)
(B)

(C)
(D)

82.
—

(A)

(B)
(C)

(D)

83.

(A) (B)
(C) (D)

84.

(A) (B)
(C) (D)

85.
—

(A)
(B)
(C)
(D)

86. —
(A) (B)
(C) (D)

87.
—

(A)
(B)
(C)
(D)

1. (C) 73 1992 

9 243 243(O) 
11

2. (A)
(MGNREGA)

(MNREGS) 
25 2005

3. (C)
1955–1967

4. (C)
1191 

5. (A)

1992 1993
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6. (A) 1952 1962

1962 1967 

9. (B)
2017

2017

10. (D)
9

11. (D) 1 
1939 

30
1939 

 14 1937 

12. (C)

13. (D) 600 
16 

14. (C)

19 
1960 

15. (B)

16. (C)
2017 

2 8 

17. (B)

2009 

18. (B) 1980 

144 
83,000 

2014 

19. (C)

87.29 
74.37 

20. (A)

2014 

21. (A)







22. (D)

+ = 
+ = 
+ = 

+ = 
23. (B)

384403

30 
24. (B)

1.
2.

25. (D)

(D)

26. (D)

(D)

27. (C)

(C)
28. (B)



29. (A)

(A) 

30. (C)

31. (C)

32. (C)

33. (D)

(D) 
34. (B)

Authority.
35. (B)

1.

2.

36. (D)

37. (C)

38. (C)

(C) 

39. (C)

40. (D)

General English
41.

42. (B) isn’t she doesn’t she 
question tag verb

tense 
verb tense 

43. (C) simultaneous
44.

45.

46.

47.
48.

49.

50.

51.

52.

53.

54. (C) ‘QPR’ sequence 
55. (B) ‘vintage’ same

word classic

Inferior
Minor
Fresh

56. (A) ‘An object of ridicule’ 
phrase

‘Laughing stock’ 
57. (A) you, he, I 
58. (B)

59. (B) My uncle, who lives in Agra, is a
doctor.

60. (B) ‘il’ will be the carrcet paefix. illegal
means forbldden by law.

61. (A) r 
2r – 2r = 18.6

 r– 1) = 18.6

 r 
22

1
7


 
 
 

= 18.6

 r 
22 7

7
 

 
 

= 18.6

 r × 
15
7

= 18.6

 r =

= 8.68 
r
= 8.68 

62.  (C) a b 
× = 

× 
a × b = 12  × 2448

ab = 29376
= a – b = 60

(a + b)2 = (a – b)2 + 4ab
(a + b)2 = (60)2 + 4 × 29376

= 3600 + 117504
= 121104

 (a + b) = 
= 348

348 
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63. (D) = ` 9x
= ` 5x

x = 5x + 4200
 x – 5x = 4200
 x = 4200

 x = 
4200

4
= ` 1050

= 5x
= 5 × 1050
= ` 5250

64. (D)
5x 12x 13x 

= 540
5x + 12x + 13x = 540

 x = 540

 x =
540
30

= 18

= 5 × 18 = 90
= 12 × 18 = 216  

 = 13 × 18 = 234 

s =
2

a b c

= 
90 216 234

2

= 
540

270
2

= ( ) ( ) ( )s s a s b s c

=
270 (270 90) (270 216)

(270 234)

    = 270 180 54 36

= 90 3 90 2 3 3 3 2 6 6
 =  90×3×3×2×6 =  9720 

65. (C) l 
b 

= 28 
2 (l + b) = 28

l + b =
28

14
2

             ...(i)

= 48 2

l × b = 48 
... (ii)

(i) 
(l + b)2 = 142

 l2 + b2 + 2lb = 196

 l2 + b2 + 2 × 48 = 196
 l2 + b2 + 96 = 196
 l2 + b2 = 196–96

= 100

2 2l b = 100 10

= 2 2l b
= 10 

66. (A)
= (2 : 1) × 2 = 4 : 2

= 2 : 1

= 4 : 2 : 1

1 1 1
2 4x x x

=
1
4


4 2 1

4x
=

1
4


7

4x =
1
4

 4x = 7×4

 x =
7 4 7

4
x


7 × 4 = 28 
67. (A) = 60 

= 
60 2 60 2
(2 1) 3

= 40 
= 60 – 40 = 20 

x 
1 : 2 

40
20 x

=
1
2

 20 + x = 80
 x = 60 

68. (B) = 1 
(P) = ` 1 = 100 

(t) = 1 = 
1

12
(r) = ?

=
100

P r t

1 =

1
100

12
100

r

 1 = r × 
1

12

r × 
1

12
= 1

 r = 12% 
69.  (B)

= 8 × 2 = 16



71. (D) x 

=
2

11
x 2

11
x

=
17 17

22 22
x x

= 1

x – 
2 17
11 22

x x
= 1

 x – 
4 17

22
x x

= 1

 x – 
21
22

x
= 1


22 21

22
x x

= 1

 22
x

= 1

 x = 22 
72. (D)

73. (D)



930.25 = 30.5
30.5 

0.5 
1
2

74. (A) =  300 

 =
300 40

120
100

 

x 
50% 

(300 ) 50
100

x
= 120 + x


300

2
x

= 120 + x

 300  + x = 240 + 2x
 300 –240 = 2x – x
 60 = x
 x = 60 

60 
50% 

75. (A) x 
8% 

= x + 
8

100
x

=
100 8

100
x x

 = 
108
100

x

3% 

=  x – 
3

100
x

 = 
97
100

x

108 97
–

100 100

x x
 = 407


11

100

x
= 407

 x =
407 100

11
= 3700

3700 

76. (B)
3 4

5 , 4
4 5

 
37
8  

=
3 4 3

5 4 7
4 5 8

=
23 24 59
4 5 8

=
230 192 295

40

=
717 37

17
40 40

1 
37

1
40

=
40 37

40
 = 

3
40

3
40

77. (B) %  =
×100

=
12.5 8

100
8

=
4.50 100 450

8 8

=
1

56 %
4

78. (B)

= x + y + 
100
xy

= 30 + 10 + 
30 10

100
= 40 + 3 = 43%

79. (D) 27x =
9

3x

(33)x =
9

3x

33x =
9

3x

33x . 3x = 9  = 32

4x = 2

x =
2
4

x =
1
2

4
1

x
=

4

1 1
16

11
162

 
 
 
 

80. (B)

2 2
2 1 2 1d x x y y

2 23 0 4 0d

9 16d

25d = 5

81. (A) (N2O)

82. (C)

83. (D)

84. (B)

85. (C)

86. (A)

87. (C)
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